Name: Assignment 5.1 & 5.2

1. Determine the key features for the function: y = —5sin l(x —E) 415

2 2
o Ampiitude: 151 =5 b) Period: (zm)/(4) = 20am) = 4w
c) Phase Shift: = r rght d) Vertical displacement: 15 wup
e) Domain: {X'XE'R} f) Range: {ljl lO’:quo(gaIR}

may : 15+S =20
min: 1S -S =10
2. Graph the following functions and label the axis. (at least one period)

= 20 - 1 -
Q) y = sin2x per 23 b) y=cos§ per = (2
Y
1 | !
) |
X
I 10 L zy ] L
%
-] =l :
|
reflechon over x-axis
C) y = 2sinx per = W | d) y = —1.5cosx per = LT
3

f-

-7 -1

Mrs. Donnelly PC12



3. Write the equation of each sine function in the form y = asinb(x —c¢) + d given its characteristics:

a) amplitude 2, period m, phase shift g to the left, vertical displacement 1 unit down

= 2 ¢c= =L
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Tt de -
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b) amplitude %, period 6m, phase shift = to the right, vertical displacement 2 units up

l .
Q= ‘T c-= Tl'
bt = 2T d= 2
b= é‘ ©
4. Graph the following functions and label the axis. (at least one period) .
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5. Graph the following function (show 2 periods). Stafe the period and phase shift.

.
phase shift: 2. ght
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6. Write an equation to represent The.grcph below.

/ 5+u_r+ of CcOSihe
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-8\ -6 w6 w w2 sa6 6 43 32 1 ‘ \\F//
\\, stalrt df -*%Sl;w roph
Y= 3cosZ_(X,—g)+2_ H:-Zsin‘yl_‘()(.+“g)+ |
—_ a= -2 (-sine graph )
K= 2 K = |
period = H_;r - % = %3_17 =T h -;’_-:'_LI_ ( for —cine 3mph)
- 1T 5 p=2

Pert'od : Lil[ -~ (
h = —131 (for +cosine graph ) o



